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Associative Property of Addition

S3

7) In the garden, Ben planted 3 rows of carrots, 7 rows of tomatoes, and 2 rows of lettuce.

8) While painting, Karen used 5 blue tubes of paint, 8 red tubes of paint, and 2 yellow

!nd the total.

1) 4 + 6 + 1 =

=

+ 2) 4 + 5 + 5 =

=

+

3) 3 + 2 + 8 =

=

+ 4) 6 + 4 + 7 =

=

+

5) 8 + 1 + 9 =

=

10

+

10

8 6) 6 + 7 + 3 =

=

10+

4

10

How can Ben apply the associative property to !nd the total number of rows of plants?

tubes of paint. How many tubes of paint are used? Make use of associative property to 

Apply the making ten strategy and use the associative property to find

the sum.
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